The Art of Readable Code

Cl LI =8 Ipdshe Athsin 2852 HaY

HAE By ENH oo s HNEE S

O’REILLY" Hi grapqucion






=| HS
Qis| M3 LA &...
e 27| E2 IZL0| CiSt 2[MX| B
o | ZE=O0|HMZ 17| It == Lt
o DLE|RO|| B7th= 2tds| HEN S
o J2iM ATHE SHA| =[AELICH



Ojdl 22 2= S0{7I7ASLICL.



2
2
gl
In

Rl (0
o

o 2E|0Hl= A
o W=0i MletAlZ

P

|2

o AEE 0O|5l|5}

rr

5t

= 2l O|5l5}7| #1O0F 7tQ?
FEE AMSH= A|ZIEC RES HNOHQI= A
{2 Refet
ZHof| AL S JHRSH= Al Shhtel =&
0|242] L XtAl EE= CHEAZHO

rr

i

mn rir
o

rr

>
N
ﬂ

>

fon

7k

e

[0

CH

H
T

M

>



Of Z0j| M= MI7HX| = F gL |Ct.

[ ]
2
=]
==

o MM, +=HEl LWEO0| 2ot THE B =2 ZE2 6{EH d=2Est=X
= & = U0 ot



]

)

il

o3

<l

ol
- II{if
o 1K
M w
o 2
KF =< "
m O
Il T K
ol S

o
X O o KO OH
S ot © i o
=r T Hl o
Kom <« & o
o =



AL SkEA = O N
o Hl ot SeATW 2= 0|52 282 4
o~ o o - _
o 5, HESIL A2 dYS 0|52 Sofl WEELITH

class MovieComponent {
async render () {
await this.fetchMovies()

const movies =
document.body.innerHTML =
movies.map(movie => “<div>${movie}</div>")

h
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fetchMovies () {
return Promise.resolve(['AIfO|HE ",

}
}
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o getPage() => fetchPage(), downloadPage()
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o stop() => kill(), resume(), pause()
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o size() => height(), nodesLength(), memoryBytes()
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// Not Cool

const start = new Date().getTime()

const end = new Date().getTime() - start
console.log( Load time was: ${end} seconds’ ) // Wrong!!

// Cool
const startMs = new Date().getTime()

const endMs = new Date().getTime() - startMs
console.log( Load time was: ${endMs / 1000} seconds’)
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e URL Encoded H|O|E{2}™M : data => dataURLEnc

o O|AF|O|Z X{2|7} £[O{OF SICHH : comment => unescapedComment
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if
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if
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(length >= 10) {}
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(10 <= length) {}
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// Not Cool
if (a !==

} else {

}

// Cool
if (a ===
} else {

) A

) A




// Not Cool
if (userResult === SUCCESS) {
if (permissionResult !== SUCCESS) {

reply.writeError('error reading permissions')
} else {

reply.writeError("'")
s

} else {

}

reply.writeError(userResult)

reply.done()
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// Cool

if (userResult !== SUCCESS) {
reply.writeError(userResult)
reply.done()
return

}

if (permissionResult !== SUCCESS) {
reply.writeError('error reading permissions')
reply.done()
return

}

reply.writeError("'")
reply.done()
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// Not Cool
const updateHighlight = messageNum => {
if ($( #vote_value${messageNum} ).html() === "Up") {

$ (" #thumbs_up${messageNum} ).addClass("highlighted");

$( #thumbs_down${messageNum} ).removeClass("highlight
} else if ($( #vote_value${messageNum} ).html() === "Do

$ (" #thumbs_up${messageNum} ). removeClass("highlighted

$( " #thumbs_down${messageNum} ).addClass("highlihgted"
} else {

$ (" #thumbs_up${messageNum} ). removeClass("highlighted

$ (" #thumbs_down${messageNum} ). removeClass("highlight

}
}




// Cool
const updateHighlight = messageNum => {

}

const thumbsUp = $( #thumbs_up${messageNum} )

const thumbsDown = $( #thumbs_down${messageNum} )

const voteValueHtml = $( #vote_value${messageNum} ).htm
const ACTIVE_CLASS = "highlighted"

if (voteValueHtml === "Up") {
thumbsUp.addClass (ACTIVE_CLASS);

} else {
thumbsUp. removeClass (ACTIVE_CLASS);

¥

if (voteValueHtml === "Down") {
thumbsDown.addClass (ACTIVE_CLASS);

} else {
thumbsDown. removeClass (ACTIVE_CLASS);

¥
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// Not Cool

"root") {}

‘) [0]

if (line.split(':

// Cool

1) [o]

line.split("':
"root") {}

const username
1f (username




const findClosestlLocation = (lat, 1lng, array) => {
let closest
let closestDist = Number.MAX_VALUE

for (let i = 0, len = array.length; i < len; i++) {
const latRad = radians(lat)
const lngRad = radians(1lng)
const lat2Rad = radians(arrayl[i].latitude)
const lng2Rad radians(array[i].longitude)

const dist = Math.acos(Math.sin(1latRad) * Math.sin(1la

if (dist < closestDist) {
closest = arrayl[il
closestDist = dist

¥
}

return closest

}
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const sphericalDistance = (latl, 1lngl, lat2, 1ng2) => {
const latRad = radians(latl)
const lngRad = radians(1lngl)
const lat2Rad = radians(lat2)
const lng2Rad = radians(1lng2)

return Math.acos(
Math.sin(latRad) * Math.sin(lat2Rad) +
Math.cos(latRad) * Math.cos(lat2Rad) x
Math.cos(1lng2Rad - lngRad)
)
¥
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const findClosestLocation = (lat, 1lng, array) => {
let closest
let closestDist = Number.MAX_VALUE

for (let i

= 0, len = array.length; i < len; i++) {
const dist =

sphericalDistance(lat, lng, arrayl[il.lat

if (dist < closestDist) {
closest = arrayl[il
closestDist = dist

}

return closest

}
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document. cookie £ AFZSILC}.

o

namel=valuel; name2=value?2;




let maxResults
const cookies = document.cookie.split(';")
for (let i = 0, len = cookies.length; i < len; i++) {
const cookie = cookies[i].replace(/~[ 1+/, '")
if (cookie.indexOf('max_results') === 0) {
maxResults = Number(cookie.substring(12, cookie.lengt

}
}




const getCookie = name => {
const cookies = document.cookie.split(';")
for (let i = 0, len = cookies.length; i < len; i++) {
const cookie = cookies[i].replace(/~[ 1+/, '')
if (cookie.indexOf(name) === 0) {
return cookie.substring(name.length + 1, cookie. lent
}

}
}

const maxResults = Number(getCookie('max_results'))
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2.5 SLAP(Single Level of Abstraction Principle)
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ICH(Naming is important)
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(a, b)

const sum =
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